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8. Let 4 and B be nxn matrices. Which of the following statements are true? If it is

true, prove it. If it is wrong, give a counter example to explain it.

() If 4 and B are real symmetric matrices, then AB and B4 must have the same
eigenvalues. (6 4+)

(b) If B isinvertible, then 4B and B4 must have the same eigenvalues. (6 %)

(c)If 4 and B are diagonalizable and have the same eigenvalues, then they must be the
same matrix. (6 4°)

9. Let 4 be an nxn matrix. If all entries of 4 and 4™ are integers, show that
det(4)=1.(6 %)

10. Let A=(4 65).Ca1culate A% 6
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